
Class : V                        Maths Worksheet                July 2020 

1. Choose the correct answer for the given picture. 

 

 

a) 7 x 7                 b) 35                 c) 5 x 7                d)    both   b) & c) 

2. Choose the incorrect answer. 

a) By adding 1 to a given number, we get the successor of that number. 

b) By subtracting 1 from a given number, we get the predecessor of that number. 

c) By adding or subtracting 0 from a given number, the value of that number does not change. 

d) 321 + 0 = 0 

3. According to Harman’s bank pass book how much amount is left with Harman after 

withdrawl of rupees 2553 on 21-6-2020? 

 

 

 

 

 

a) Seven thousand five hundred seventy nine          b) Two thousand four hundred seventy three              

c) Two thousand five hundred fifty three                  d) Five thousand twenty six 

4. Choose the correct answer for the points of intersection shown below. 

 

 

 

a) 8 x 7 = 54           b) 8 x 8 = 56           c) 8 x 7 = 56             d) 7 x 7 = 56 

5. Tick the correct multiplication form of groups of dots shown below. 

 

 

20-6-2020 5026 

2473 2553 

5026 

21-6-2020 

Harman’s bank pass book 



a) 8+6          b) 6 x 8          c) 6 x 6            d) 8 + 8 +8 +8 + 8 + 8  

6. If Rs.16 is equally divided between Raman and Gagan, then how much money will each get? 

 

 

 

a) 8 rupees            A) 0 rupees              e) 16 rupees               s) 2 rupees 

7. Parveen’s mother bought items worth Rs. 52214 from the market. According to the given 
picture, tell us how much money Parveen’s mother had taken to the market? 
   
 
 
 
 
 
 
 
a) 78901           b) 52214           c) 26687             d) 78911 
8. A car has 4 wheels and an auto rickshaw has 3 wheels. How many total wheels are there in 2 cars and 1 
auto rickshaw? 

      
 
 
a) 11                       b) 10                         c) 7                     d) 8  
9. Replace * by correct digit. 
 
 
 
 
 
 
 
a) 0               b) 8                 c) 9               d) 1 
10. The note shown is the round off which number in the nearest hundred? 
 
 
 
 
a) 100                  b) 425                       c) 495                    d) 575 



1 3 2 

11. How much the price of watch placed at third place is more than the watch placed at second 
place? 
   
 
 
 
 
 
 
a) Twenty one thousand three hundred and thirteen rupees 
b) Twenty three thousand nine hundred and ninety five rupees                      
c) Twenty two thousand six hundred and fifty four rupees                      
d) One thousand three hundred and forty one rupees 
12. What is the right method to find difference between the place values of the encircled digits of the 
numbers shown in the picture below?      

 

 

 

a) 600-70               b) 6000-70               c) 6000+70                  d) 60000-700 
13. Choose the greatest 3 digits number from the following picture. 
 
 
 
 
 
 
 
a) 9999                  b) 99                        c) 999                             d) 11097 
14. The price of laptop is Rs. 8000 more than that of computer. Find the price of computer. 
 
 
 
 
 
a) ₹ 31550               b) ₹ 15500                 c) ₹ 15000               d) ₹ 15550 
   
Answer key 

1 (d)  2 (d)  3 (b)  4 (c)  5 (b)  6 (a)  7 (a)  8 (a)  9 (d)  10 (c)  11 (d)  12 (b)  13 (c)  14 (d) 

 

₹ 23550        ? 

21313 23995 


